

Name: M Kamran

IDNO: 7888

Sec: B

Calculus

21 - August - 2020

Summer - 2020

Q No i

$$g(t) = 0 \quad t < 0$$

$$t^2 \quad 0 \leq t \leq 3$$

$$2t+3 \quad 3 < t \leq 4$$

$$12 \quad t > 4$$

a) find point of discontinuity

b) find $t=3$ g

SOLUTION:

a) At

$$t=0$$

$$t=3$$

$$t=4$$

Now at $t=0$

$$g(0) = 0$$

$$\lim_{t \rightarrow 0} g(t) = \lim_{t \rightarrow 0} 0 = 0$$

and

$$\lim_{t \rightarrow 0} g(t) = \lim_{t \rightarrow 0} t^2 = 0$$

$$\lim_{t \rightarrow 0} g(t) = (0)^2 = 0$$

g is continuous at $t=0$

for $t=3$

$$\lim_{t \rightarrow 3} = t^2$$

$$= (3)^2$$

$$= 9$$

$$\lim_{t \rightarrow 3} g(t) = \lim_{t \rightarrow 3} (2t+3) = 2(3)+3 = 9$$

g is continuous at 3

for $t=4$

$$g(4) = 2(4) + 3 = 11$$

and

$$\lim_{t \rightarrow 4} g(t) = \lim_{t \rightarrow 4} 12 = 12$$

So $\lim_{t \rightarrow 4} g(t)$ does not exist

It is discontinuous at $t=4$

b)

find $\lim_{t \rightarrow 3}$

As we solve in part 1st

$g(t)$ exist

for $t=3$

$$\lim_{t \rightarrow 3} = t^2$$

$$= (3)^2$$

$$= 9$$

So

$$\lim_{t \rightarrow 3} g(t) = 9$$

$$\lim_{t \rightarrow 3} g(t) = 9$$



Q No 2

Find the Maclaurin's series for

$$y(x) = x^2 + \sin x$$

SOLUTION:

$$y(x) = x^2 + \sin x$$

$$y(0) = (0)^2 + \sin(0) = 0$$

$$y'(x) = 2x + \cos x, \quad y'(0) = 2(0) + \cos(0) = 0 + 1 = 1$$

$$y''(x) = 2 - \sin x, \quad y''(0) = 2 - \sin(0) = 2 - 0 = 2$$

$$y'''(x) = -\cos x, \quad y'''(0) = -\cos(0) = -1$$

$$y^{(4)}(x) = \sin x, \quad y^{(4)}(0) = \sin(0) = 0$$

Maclaurin Series:

$$y(x) = y(0) + y'(0)x + \frac{y''(0)x^2}{2!} + \frac{y'''(0)x^3}{3!} + \frac{y^{(4)}(0)x^4}{4!} \dots$$

$$y(u) = 0 + 1u + \frac{2(u^2)}{2!} + \frac{(-1)(u^3)}{3!} +$$

$$\frac{(1)(u^4)}{4!} + \dots$$

Q NO 3(c)

Find y''

$$1 + uy = u^2 + y^2$$

SOLUTION:

$$1 + uy = u^2 + y^2$$

Diff w.r.t u

$$0 + u \frac{dy}{du}$$

$$\frac{d}{du}(1) + \frac{d}{du}(uy) = \frac{d}{du}(u^2) + \frac{d}{du}(y^2)$$

$$0 + \left\{ y(1) + u \frac{dy}{du} \right\} = 2u + 2y \frac{dy}{du}$$

$$0 + y + u \frac{dy}{du} = 2u + 2y \frac{dy}{du}$$

$$2u - y = (u - 2y) \frac{dy}{du}$$

$$\frac{2u - y}{u - 2y} = \frac{dy}{du}$$

$$\frac{d}{du} \left(\frac{dy}{du} \right) = \frac{d}{du} \left(\frac{2u - y}{u - 2y} \right)$$

$$\frac{d^2y}{du^2} = \frac{(u - 2y) \left(2 - \frac{dy}{du} \right) - (2u - y) \left(1 - \frac{2dy}{du} \right)}{(u - 2y)^2}$$

$$= \frac{2'u - uy' - 4y - 2yy' - 2u' + 4uy' + y - 2yy'}{(u - 2y)^2}$$

$$y'' = \frac{3uy' - 3y}{(u - 2y)^2}$$

Q NO 3 (ii)

$$Y = u^3 (1+u)^9 e^{6u}$$

SOLUTION:

$$Y = u^3 (1+u)^9 e^{6u}$$

Taking log on both sides

$$\ln y = \ln(u^3 (1+u)^9 e^{6u})$$

$$\ln y = \ln u^3 + \ln(1+u)^9 + \ln(e)^{6u}$$

$$\ln y = 3 \ln u + 9 \ln(1+u) + 6u$$

$$\frac{d}{du} (\ln y) = \frac{d}{du} (3 \ln u) + \frac{d}{du} (9 \ln(1+u)) +$$

$$\frac{d}{du} (6u)$$

$$\frac{1}{y} \frac{dy}{du} = \frac{3}{u} + \frac{9}{1+u} + 6$$

$$\frac{dy}{du} = y \left(6 + \frac{3}{u} + \frac{9}{1+u} \right)$$

$$\frac{dy}{du} = u^3 (1+u)^9 e^{6u} \left(6 + \frac{3}{u} + \frac{9}{1+u} \right)$$